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MAE 325 HW1
MATLAB solution

» eql = 'Fa*cos(2*th)-Fb*sin(th)=0.0';

» eq2 = '-mg+Fa*sin(2*th)+Fb*cos(th)=0.0"; €9l e92 ecd from

» eq4 ='Fb = 0.75*mg'"; sonee

» solve(eq4,eq2,eql,'Fa,Fb,th') = sQ\v:w3 3 e/cs , -
Loc 7 7 , Fo, T
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ans =

Fa: [4x] sym] . - , - ‘
Fb: [4xlsym] 3 7 pessbe Dolefons doc eac h varicde
th: [4x1 sym] ./

» ans.th

ans =

[ 2.1460453407562160993173040494085] o) 1 o wa , ¢ o ”:Af H‘o(,«t
[ -2.1460453407562160993173040494085] ol 2 iy y Voapkssiele  Solutens
[ -.40514883191467585005401963560765] sol 3 D Ao ceoliedic - .

[ .40514883191467585005401963560765] ol 4 ! / -

» theta = .40514883191467585005401963560765*(180/pi)
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